Week 9 — Lesson 1 — Read and Interpret Tables

o The table shows the number of children in eoch yeor ot o
primary school.

Read and interpret tables

Yeor 1 2 3 a 3 B
Numberaf | o | 3 | 20 | 25 | 22
children

There are 175 children in the school in total.

o The table shows the weight of five dogs, to the nearest kilogram. How many children are in Yeor 67

MNome of dog Weight
Buster 12 kg
Misty 26 kg
Titch 14 kg Complete the toble.
Honer did you work this out? Talk to o portner.
Henry
Patch

o The toble shows the overoge summer temperature for

) What is the total weight of Buster and Titch? different cities.

City Londen | Edinburgh | Paris | Modrid | Rome Berlin
{,Z“PE"""”'E 21 15 25 31 30 2

b} Henry is 10 kg heavier than Misty.

Write Henry's weight in the table. a) What is the averoge summer termperature in Paris?

c) Potch is heavier thot Titch but weighs less thon Misty. g o .
b} Which city has the warmest overoge temperoture during
Write the dogs names in order of weight, starting with
the lightest. the summer?

¢} What is the difference in overage temperature
between Berlin and Edinburgh?

d) Which two dties hove o difference of just one degree in overage
surmmer temperatura?
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&) Evao ond her parents live in London.

They want to hove o summer holidoy somewh ere warmer.

Which city do you think they shiould go to?

Exploin your answer.

o Teachers asked children how they travel to school.
The tobles show how the children in Yeor 4 ond Year 5 trowvel

to school.
Year 4 Year 5
Method Method
Walk| Bike | Car | Bus ‘Walk| Bike | Cor | Bus
of trovel of trowel
Nurmbsr Murm ber
of children 18 ! 10 o of children 17 3 7 1

a) What is the most common method of travel in both year groups?

b) Howw mony more children trovel by car in Year 4 thon
in Year 57

¢} Which year hos the most children?

d) /”f "l"earﬁch.ildmn_x
| couse less pollution than Year 4, |

getting to school {I
I =

Is Tommy comect?

Exploin your answer.

&

o The table shows the number of ice creams sold in o shop last week.

Doy Mon | Tue | Wed | Thur Fri Sat Sun

lce creams
sald

15 27 13 19 2 16 ag

“The shop sold mnreH\\
| ice creams in total on Saturday |
Qd Sunday than during the /

__rest of the week. . “=

Do you ogree with Alex?

Exploin your reasons. 9

Class 5B did a survey to find out the types of pets children had
ot home.

Daog Cat Hamster Rabhbit Goldfish

HHI | HH Hi i HH

S Therears o Wedowai A

A 24 children in /" know how many
;EL-!,‘_FEE clus.f______/ '\jhildren are in {

- “'-t_hf ELES e T st

There are

more than 24 children | |-ia
'“'-E the clﬂs._s;f_ —
| Amir |
Who is correct?
Explain your answer. @



Week 9 — Lesson 2 — Two-way Tables

Two-way tables

o A film is shown twice o doy at 3 pm and 7 pr.

The toble shows the number of children and odults thot see each
show in one day.

Adults Children
3 prn showing 28 1
T pm showing L8 12

a) How many children waotched the 7 pm showing?

b} How many odults wotched the film thot doy?

¢} There are 100 seots in the cinemao.

Hovwr many seats were empty at the 3pm showing?

d) Did more children or more adults watch the film?

Shoner your workings.

&) Why do you think fewer children watched the 7pm showing?

&

o The taoble shows information obout the eye colowr of 100 people.

Brown Blu= Greer Total
Boys 12 25 70
Girls g
Total 29 100

a) Complete the toble.

b} How rmany boys howve green eyes?

¢} How rmony girls hove blue eyes?

d) How rmany maore girls have brown eyes than blue eyes?

o The table below shows the distance in miles betweean some cities.

Londan
3459 Mewr Yark
E.03s 6,736 Tokyo
6,011 T.B03 9,152 Cope Town
10,553 0,920 7819 6,845 Sydney

a) What is the distonce between Sydney and Tokyo?

b} Which two cities are the furthest opart?

and

¢} Choose o city to start in and then two more different ploces
to visit.

Hioner far would you hove to trovel?
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o Teams ore owarded points for each event ot o swimming golo. e The toble shows information ocbout some of the world's

Some of the scores have ooidentally been washed offl tallest buildings.
o ] Number of Year
Building Country Height {m) floors ey
Burj Khalifo UAE 2028 163 2010
Ereaststroke | Bockstroke . .
Shanghai Tower China 632 128 2015
405 Abraj Al-Baoit . .
Clock Tower Soudi Arabic &0 120 202
630 Ping An Finance | 00 5ag 15 2017
Centre
Goldin FINGN<e | cning 597 128 2018
a) How tall is the tollest building?

b} Which building is 801 m tall?

¢} Which two buildings have the same number of floors?

Work out the missing scores and complete the toble.

d) Which building wos completed most recently?

&) How much taller is the Burj Khalifo thon the Goldin Finonce
117 building?

Write 3 questions for your partner to answer about the information

on the tobile. f) Threefifths of the buildings are in China.

Is this statement correct?

Explain how you know.




Week 9 — Lesson 3 — Multiply Decimals by 10, 100, 1000

&

Multiplying decimals by 10, 100 o Complete the multiplications.

and 1,000 a)
H T Tths Hths
4.1 = 100 =
4 1
o Complete the multiplications. b)
a)
" - R H T Tths | Hths tre 100
3T =10= 1 1 c A5 = =
7
b)
H T Tths | Hths g
p . 145 =10 = H T Tths | Hths
145 = 100 =
1 4 &
<)
H T Tths Hths
1.58 = 10 =
] g " d)
H T Tths Hths
d} 4 0 c 4.05 = 100 =
H T Tths Hths
13.06 = 10 =
1 0 B Whit do you notice when you multiply o number by 1007 =
Whot do you notice when you multiply @ number by 107 O|
s
o Complete the cloulations.
ﬂ Complete the multiplications. a) 7.2 % 100 = d) 1.89 % 100 =
a) 1.7 %10 = d) 13.4x%10=
b) 3.4 « 100 = ) 7357 «100=
b} 1.75 =10 = e) 10=13.0d=
¢ 19.5 « 100 = f) 1.317 « 100 =
g 1.73x10= f) 1304 = 10 =
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o Amir has multiplied 3.8 by 1,000 ° Complete the coloulotions.

a) 1.7 = =77 ) B0E2 « = 80.32
The answer is 3.8000
b) x 10 = 1,950 f x 18.3 = 1,830
a) What mistoke hos Amir mode? g N5« =115 g) 195.32 x =1,853.2
d) £ 11.5=11,500 h) x 1,000 = 7,200

o Tormmy is 1.4 m tall. @l

b} Work out the comect answer. 3.8 = 1,000 = _ )
A tree is 10 times os tall os Tommuy.
A building is 100 times as tall as Tommy.
G Complete the multiplications. a) How tall is the tree? m
a) 4.7 « 10= o 5B« 10= b} How much taller is the building than the tree?
A7« 100 = LB« 100 =
4.7 = 1,000 = LLBA « 1,000 = o Match the multiplications to the descriptions. @
b) 19.3 « 10 = d) 18.06 = 10 = x 10 = 10 multiply by 10
193 « 100 = 100 » 18.06 = <0 x10«10
% 100 = 10 multiply by 100
1,000 % 19.3 = 18.06 = 1,000 =
x 10 = 100
Honer did you work out the answers? Talk o o partner. OI
- % 10 = 1 multiply by 1,000



Week 9 — Lesson 4 — Divide Decimals by 10, 100, 1000

Dividing decimals by 10, 100 and 1,000

° Complete the divisions.

a)
H T Tths | Hths
b)
H T Tths | Hths
1
4]
H T Tths | Hths
-
d)
H T Tths | Hths
1 8

5-:-1l:|=

138+ 10=

Whaot do you notice when you divide @ number by 107

o Complete the caloulations.

o) 7:10=

b) 7.8 + 10 =

) 7.86+10=

d) 16+10=

&) 164 +10=

f) 1648+ 10=

&

O

o Complete the divisions.

a)
H T Tths Hths | Thths
1 7 17 # 100 =
b)
H T Tths Hths | Thths
9.4+ 100 =
g 4
)
H T Tths Hths | Thths 376 = 100 =
2 7 B
d)
H T Tths Hths | Thths
325+ 100=
3 2 5

Whot do you notice when you divide o number by 1007

o Complete the divisions.

a) T+100=

T2+ 100 =

F.25 £ 100 =

b) 108 + 100 =

10.9 = 100 =

1085 + 100 =
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o Use o ploce value chart to work out 136 =+ 1,000 g) ° Complete the coloulotions.

H T Tths Hths | Thths
a) 147 = 10 = C 200 =10 =
] . c ) ) 3
Complete the caloulotion. 147 = 100 = 3,200 + 100 =
136 +1,000 = 147 # 1,000 = 3,200 + 1,000 =
Talk to o partner about your method. Ol b} 21 =10 = d) 5006 + 10 =
-
21 +100 = EO06 + 100 =

° Use your knowledge of measure to work out the answers.
a) What is the mass of the box in kilograms? 21 + 1,000 = 5006 + 1,000 =

) o Complete the divisions.

y a) 83 + = 0.83 e) 1,799 + = 17.98
b) + 10 = 0.95 f) +100=11.8
o) +10=39 g) 178 =178

1k
|

b) Whaot is the height of the sunflower in metres?

ke
|

= 235 o

c) What is the amount of juice in litres?

e
4
d) 68 =+ = 0068 hj 3.18 = =10.318

1h
|

i
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Week 9 — Lesson 1 — ANSWERS

o The table shows the number of children in eoch year ot a
primary school.

Read and interpret tables

Year 1 2 3 4 5 b

Numberof | .o | 3 | 20 | 25 | 32

g
G

children

There are 175 dchildren in the school in total.

The taoble sh th ight of five d to th st kil .
o = = shiaws The W=l Ve Eas & nearest klogram Howe mony children are in Year &?

Narme of dog Weight
Buster 12 kg
Misty 26 kg
Titch 14 kg Complete the toble.
Henry 31 Lles Howe did you work this out? Tolk to o partner.
Patch
o The table shows the average summer termperature for
a6) What is the total weight of Buster and Titch? different cities.
Clty London | Edinburgh | Paris Miadrid | Raomme Berin
i
L
== gy e 2 15 25 31 30 22
b) Henry is 10 kg heavier than Misty.
Write Henry's weight in the table. a) What is the overage summer temperature in Paris? 45€
cj Patch is heavier that Titch but weighs less than Misty. @‘ _ _ .
b) Which city has the warmest avercge temperature during
Write the dogs nomes in order of weight, starting with .
the lightest. the summer? Madurud
B pcter Tikcdn Bokcrn  Moshs  Hermau ¢} What is the d.rFFerence .|n average temperoture -
i ' TN i between Berlin and Edinburgh? 1 ¢

d) Which two cities haove o difference of just one degree in averoge

surnmer tempenature?

Lorciew B Bprilin g RBonng & Mo daicl
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&) Evo and her parents live in Londaon.

They wont to howve a summer holiday somewhers warmer.

Which city do you think they should go to? _E-9. Made o

Explain your answer. @

o Teachers asked children how they travel to school.
The tables show how the children in Yeor 4 and Year 5 trowvel

to school.
Year 4 Year 5
Method Method
Walk|Bike | Car | Bus Woalk| Bike | Cor | Bus
of trovel of trawvel
Numbsr Mumber
of children 18 1 10 0 of children 17 3 ! !

a) What is the most commaon method of trovel in both year groups?

il

b} How many more children trovel by cor in Year 4 thon
in Year 57 3

¢} Which year has the most children?

“eor U
d) /’”ﬁ- Year 5 children -H“‘-\.\'
| couse less pollution than Year 4, |
\ qetting to school 4{
— - =]
Is Tommy correct? 423 [ne| conk tu ,_..u;jﬁ Cornt ok

Explain your answer.

jatbipor e @

o The toble shows the numbser of ice creams sold in o shop lost week.

Doy Mon | Tue | Wed | Thur Fri Sot Sun

leecreams | ol oo7 | 93 | 1e 2 46 | 38
sold

“The shop sold mnreﬁ‘\\
| ice creams in total on Saturday |
Qu.d Sunday than during the ./

__rest of the week. . "=

Do you agree with Alex? 158

Exploin your reosons. 9

Class 5B did @ survey to find out the types of pets children hod
ot home.

Dag Cat Hamster Fabbit Goldfish

HHI | HH Hi i H+

e, Wedmwai
= 24 children in (" know how many '-I
‘® tll:’___q___ﬂq,e class. '\ children are in
— \\ the class. . "
There are —
more than 24 children | l-ﬂs
~n the doss. <
 Amir |

Who is correct? L0514

O

Explain your answer.

Whits
owhis ko Motu o



Week 9 — Lesson 2 - ANSWERS

Two-way tables

&

o The table shows informotion about the eye colour of 100 people.

Browam Blus Green Totil
Eoys 12 25 13 70
Girls I3 5 B 30
Total 29 1 Ty 100
o A Afilmn is shown twice o doy at 3 pm and 7 prm. a) Complete the table.
The table shows the number of childrem ond adults that see each o
show in one doy. b} Hows mony boys hove gresn eyes? [AE)
Adults Children ) How mony girls hove blue eyss? S
3 pm showing 28 &5 d) How moany more girls hawe brown eyes than blue eyes? |8,
7 pm showing L& 12
o The table below shows the distance in miles betweean some dties.
a) How many children watched the 7 pm showing? |3
Londaon
b} How mony odults wotched the film thot doy? 3,459 Mew York
50938 6,736 Tokyo
ge 6,011 7803 9152 Cope Town
¢} There are 100 seats in the cinema. 10,553 8,020 7819 6,845 Sydney

Hover mzny seats were empty ot the 3pm showing? . . )
a) What is the distonce between Sydney and Tokyo? 7,819

b} Which two cities are the furthest opart?

_ . Ll Oy and Sl g b
d} Did more children or more odults waotch the film? W -
Show your workings. ¢ Choose o cty to start in ond then two more different ploces
to wisit.

Heows far would you hove to trovel?

A i s

Voriouwd Oonbestlh p g .

©

e) Why do you think fewer dhildren waotched the Tpm showing? 13, jas vy

LOnAon —3 Tl ool = 'I_'.;L;_,T
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o Teams are owarded points for ecch event ot o swimming gala. o The table shows informaotion about some of the world's

Some of the scores have ocddentally been woshed offl tallest buildings.

S . Nurnber of f emr

Building Country Height {m) floars completed
Burj Ehalifa UAE 828 163 2010

Eremststroke | Bockstroke . )
Shonghai Tower China o3z 128 2015
405 qe0 Abraj Al-Bait . .
Clock Tower Soudi Arabia (=) 120 2012
Fing An Finance | oping 500 115 207
Centre
Goldin Financ® | thing 597 128 2019
a) How tall is the tallest building? BAE on

b) Which building is 801 m toll? _Dlocoy Bl Bool Dlede Towe

¢} Which two buildings have the same number of floors?

Work out the missing scores and complete the toble.

Shonohos, Tower & Gddin Fonvance U3
(%)

d} Which building wios completed most recently? Goldun Finonge I3

&) How rmuch taller is the Burj Khalifa thon the Goldin Finance
117 building?

-~
| d
H\_'-'I m

Write 3 questions for your partner to answer about the information

on the table. f) Threefifths of the buildings are in China.

Is this statement correct? _ 220

WO WD Do, ey &

Exploin how you know.

Inrel pul ol Yhe S bhuldngs o i Chand
LY




Week 9 — Lesson 3 — ANSWERS

Multiplying decimals by 10, 100
and 1,000

o Complete the multiplicotions.

a)
H T Tths | Hths
n m 37 10=
b)
H T Tths | Hths
; . - 145 « 10 =
4]
H T Tths | Hths
158 « 10 =
1 g 8 B
d)
H T Tths | Hths
] 3 5 : 13.06 = 10 =

Whaot do you notice when you multiply o number by 107

Complete the multiplicotions.

306

a) 1.7x10=| |7 d) 13.4x10=| |30
b) 1.75x10=| |} -5 e) Wx1304=| 1301
g 1.73x10=|17.% f) 1304 = 10=| | 204

O

o Complete the multiplioations.

a)
H T Tths | Hths
41 % 100=| L0
4 1
b
H T Tths | Hths
, =| LIS
. ] o | 415 % 100 5
]
H T Tths | Hths
145 « 100 =| 1,150
1 4 5
d)
H T Tths | Hths
405« 100=| LOS
4 0 5

Whot do you notice when you multiply @ number by 1007

Complete the cloulations.

a) 72x100=| 790
b) 3.4 %100 =| 21,0
€ 19.5 % 100 =| | 950

d) 189 x100=| |59
e) 7357 = 100=| 7. 557
f) 1317 =100 =137
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o Amir has multiplied 2.8 by 1,000

a) What mistake has Amir mode?

The answer is 3.8000

b) Weork cut the comect answer.

o Complete the multiplications.

a) 47 % 10=

4.7 = 100 =

4.7 « 1,000 =

b} 19.3 =« 10 =

19.3 « 100 =

1,000 % 19.3 =

d

3.8 x 1,000 =

LB« 10 =

LB« 100 =

5.84 « 1,000 =

18.06 = 10 =

100 = 18.06 =

18.06 » 1,000 =

Howw did you work out the answers? Talk to o portner.

o Complete the cloulations.

a)

b)

<)

d)

o Tommy is 1.4 m tall.

TT = =770
« 10 = 1,950
11.5 = =11&

# 11.5 =11,500

)

f)

gl

h)

A tree is 10 times os tall os Temmuy.

8.032 »

105,32 «

A building is 100 times as tall as Tommy.

a) Honer tall is the tres?

= B0.32

= 18.3 =1,830

* 1,000 = 7,200

b} Howw much taller is the building thon the tres?

o Maotch the multiplications to the descriptions.

= 10 = 10

w10 10 = 10

= 100 = 10

= 10 = 100

= 10 =1

rmultiply by 10

multiply by 100

multiply by 1,000

«

©



Week 9 — Lesson 4 - ANSWERS

Dividing decimals by 10, 100 and 1,000 il © complete the divisions

a)

H T Tths Hths | Thths
1 7 17 2100 =) 07
o Complete the divisions. b)
a)
H T Tths Hths H T Tths Hths | Thths e
- Q4 £ 100 =| LUy
Exlo=|000 G A
b) c)
H T Tths Hths
2 T ]
0
H T Tths Hths d)
3B+ 0= 20
] H T Tths Hths | Thths .
RE 0= 0022
d) 3 2 5
H T Tths Hths
138=10=| 52 Whaot do you notice when you divide o number by 1007 |
1 ] - b
Whot do you notice when you divide o number by 107 O|
b4
o Complete the divisions.
a) T=100=| 07 B 109 £100=| |-009
° Complete the caloulations.
a) 7+10=| O dy 6+10=| |.L 72:100=| ¢ 057 We=100=|0 0"
by 78+10=( .99 e} 164 +10=| [ 725100 =| 6 0779 1085 + 100 =| O 098

¢ 786 +10=|p f) 6AB=10=| | L, 7

40
(=]
a
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o Use a place value chart to work out 136 = 1,000 g}

H T Tths Hths | Thths

1 3 [

Complete the coloulation.

136 1,000 = D156

Talk to o portner about your method. O|
b

o Use your knowledge of meosure to work out the answers,
a) What is the moaoss of the box in kilograms?

23 (=] L0000 |=| 2-3 2,340 g

b} What is the height of the sunflower in metres?

135 150 =| 2.35 235 cm

1h

¢} What is the amount of juice in litres?

Il-\.
)
=k
."_J
]
-
LA
o)

o Complete the caloulations.

a) 147 £ 10 = |7

Mrswo0=| |47

147 = 1,000 = 0L

b) 21 +10=

2 :100= /.99

=

21 1,000 = O 07l

o Complete the divisions.

a) 83 ¢ oo =082
By [ 95 |#10=098
g | %29 [+10=39
d) 88 =| | 000 |=0.0868

¢ 3,200 : 10 =

3,200 + 100 =

3,200 + 1,000 =

d} 5006 +10=] 5C

5006 100 =| =0 .06
EO06 = 1,000 =| 5 00
e 1,799 | 00 [=17.09
f) RO |+ 10D =11.8
gl 178+ |10 |=178
h) 3182 [0 |=0.318
O B Raths 3060



